LB-75-2

+7(495)211-46-47

LB-75-2

Macca (HeTTO0)

Net Weight

50

Kg

Buemnue Pazmepnl

Outside Dimensions

360*270*300

mm*mm*mm

-

V3en Hacoca LB75

1 1330:1\
11 123001 — | @Q

21125 Q1 a— |

21125 01 8——u__

11 123 001

2

| ="

21 128 014

11123 00— |

=

21125019




LB-75-2

¥Y3ea nacoca LB-75

+7(495)211-46-47

MNpumeHs- MNosnumna B
Kop, HanmeHoBaHue
€MOCTb | JeTanupoBKe

21175003 |PunbTp BO3OYLIHBIN B cOope 3 1
11114001 |lavika ®19 3/4 5 2
21123004 |[onoBka uMnuHapa 3 3
11123003 |l'paBepHas wanba ©8 18 4
11131006 |BonT kpbliwku 6roka unnuHgpos M8x80 12 5
21173002 | YronbHWK 1 6
21154003 |lpoknagka 6roka knanaHoB BepxHas ®80 3 7
21124004 |KnanaHHas nnuTa B cbope ©80 3 8
21151005 |[lpoknagka 6roka knanaHoB HkHAS ©80 3 9
21121005 |Umnungp 80 3 10
11111003 |larika ®10 12 11
11123004 |['paBepHas wanba ©10 12 12
21153003 |lMpoknagka umnuuap — kaptep ©80 3 13
11141003 |Llnunbka M10*38 12 14
21145004 |Komnnekt nopHeBbIx Kosiel ©80 3 15
21141004 |MopweHb 80 3 16
21144003 |Konbuo cTonopHoe Ansa nanbua nopwHesoro @15 6 17
21143004 |Maney nopwHeBon ®15*70 3 18
21132007 |LatyH 6okoBowm 2 19
21132008 |LUaTyH ueHTpanbHbIN 1 20
11131001 |BonT KpenneHunsa Kpbiwkn M6x20 4 21
11123002 |I'paBepHas wanba 6 4 22
21112001 |3agHas KpblwKa 1 23
21155002 |lMpoknagka 3agHen KpbilwKu 1 24
21134002 |MoawwnnHuk 6304 1 25
21171004 |Papgunatop 2 26
21174004 | TpoOKWHUK 2 27
21164002 |MacnoykasaTenb 1 28
21169003 |lMpobka cnvBa macna 1 29
21167002 |lpobka 3anuBa macna 1 30
21111013

(21111021)+ |KapTep ! 31
21146004 | CronopHoe konbLo koneHsana $30 1 32
21146003 | CronopHoe konbLo $30 1 33
21131007 |KoneHnBan 1 34
21136001 |CermeHTHas LUMOHKA 1 35
21134006 |MoawwunHuk 6307 1 36
21152005 |[poknagka nepegHen KpblWKX NOALWMNHUKA 1 37
21113005 |lMepeaHsist KpbilKa 1 38
11131004 |BonT kpenneHnsa nepegHen Kpbiwkn M8x25 6 39
21212004 |LlUkus LB50/75 ®368 1 40
21213003 |lWanba ®52 1 41
11124002 |lWanba ©10 1 42
11131011 |Bont wknea M10x45 1 43
21161005 |MaHxeTa nepegHen Kpblwkm $35*56*12 1 44
21166001 |CanyH 1 45
21111013

(21111021)+ |KapTep ! 31
21125014 |llnacmuHbi Marn. 8 KOMIIeKme 3 8/2
21177010

(21175007)* |lNampoH 8030ywHO20 hunbmpa 3 1/1

¥V3ea nacoca LB-75-2
3anmyacTu uMeronue oranuua or LB-75

21112003 |3apgHsas kpbiwka (LB75-2) 1 23 4,1
21155001 |lMpoknagka 3agHewn kpbiwku (LB75-2) 1 24 0,9
21164004 |MacnoykasaTens (LB75-2) 1 28 14,4

2




LB-75-2

+7(495)211-46-47

21111021 |Kaptep (LB75-2) 1 31 124,1
11121009 |CrtonopHoe konbuo 30 (LB75-2) 1 33 0,5
11131004 |BonT KpenneHusa nepegHen Kpbiku M8x25 6 39 0,4
11121012 |Wanba ®52 (LB75-2) 1 41 2,7

* - HOBBIU KOJI ITO3ULINHN



	OLE_LINK1

